



Nome: _____

Data: _____ Punteggio: _____

$$(4 + \frac{1}{2})^2 - \frac{1}{2} - \frac{1}{2} - 3^2 =$$

$$(4 + \frac{1}{2})^2 + \frac{1}{3} + \frac{1}{6} - 3^2 =$$

$$(\frac{1}{2} + (\frac{1}{3})^2) \times \frac{1}{4} + (\frac{1}{4} + \frac{1}{4})^2 =$$

$$(\frac{1}{3} + (\frac{3}{4})^2) \times \frac{1}{2} + (\frac{1}{2} + \frac{2}{3})^2 =$$

$$(2 - \frac{3}{4})^2 + \frac{1}{4} - \frac{1}{2} - 3^2 =$$

$$(\frac{1}{5} - \frac{3}{5})^2 + \frac{1}{5}(\frac{1}{2} + \frac{3}{5}) =$$

$$(\frac{3}{5} - \frac{1}{6})^2 + \frac{3}{5}(\frac{3}{4} + \frac{3}{2}) =$$

$$(\frac{1}{3} + \frac{2}{5})^2 + \frac{1}{3}(\frac{2}{3} - (\frac{1}{3})^2) =$$

$$(\frac{1}{2} + (\frac{3}{4})^2) \times \frac{1}{2} + (\frac{3}{4} + \frac{1}{6})^2 =$$

$$(3 + \frac{1}{3})^2 - \frac{1}{2} \times 3^2 + \frac{2}{5} =$$



Nome: _____

Data: _____ Punteggio: _____

$$(4 + \frac{1}{2})^2 - \frac{1}{2} - \frac{1}{2} - 3^2 = \frac{41}{4} = 10\frac{1}{4}$$

$$(4 + \frac{1}{2})^2 + \frac{1}{3} + \frac{1}{6} - 3^2 = \frac{47}{4} = 11\frac{3}{4}$$

$$(\frac{1}{2} + (\frac{1}{3})^2) \times \frac{1}{4} + (\frac{1}{4} + \frac{1}{4})^2 = \frac{29}{72}$$

$$(\frac{1}{3} + (\frac{3}{4})^2) \times \frac{1}{2} + (\frac{1}{2} + \frac{2}{3})^2 = \frac{521}{288} = 1\frac{233}{288}$$

$$(2 - \frac{3}{4})^2 + \frac{1}{4} - \frac{1}{2} - 3^2 = (-\frac{123}{16}) = (-7\frac{11}{16})$$

$$(\frac{1}{5} - \frac{3}{5})^2 + \frac{1}{5}(\frac{1}{2} + \frac{3}{5}) = \frac{19}{50}$$

$$(\frac{3}{5} - \frac{1}{6})^2 + \frac{3}{5}(\frac{3}{4} + \frac{3}{2}) = \frac{346}{225} = 1\frac{121}{225}$$

$$(\frac{1}{3} + \frac{2}{5})^2 + \frac{1}{3}(\frac{2}{3} - (\frac{1}{3})^2) = \frac{488}{675}$$

$$(\frac{1}{2} + (\frac{3}{4})^2) \times \frac{1}{2} + (\frac{3}{4} + \frac{1}{6})^2 = \frac{395}{288} = 1\frac{107}{288}$$

$$(3 + \frac{1}{3})^2 - \frac{1}{2} \times 3^2 + \frac{2}{5} = \frac{631}{90} = 7\frac{1}{90}$$